Recall - A,B= C-alg
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Then lull, = 1) (ueARR)
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V l.€ FD(H) PL,: orth /;md' onfo L.
Thun  T€ B(HEK)

ITh = sup |l (A&1)T(P&1)
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ueHeK st ful=¢, ITH=1Tull+é
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be fwfhﬁx/ *-reps

Let Nuly ¢ = J@ETYW)N (ueheB)
We want © fuly o = lullgg

We May GSSune that =7
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Lort ACRH), BCBK) Clsubak
= Acs, B = the closure of ARR in J3(HEK)

Cor2 KlH)®,KMH,) = X(H&H,)
Notation H =Hitb sp, x,yeH.
xoy: H—=H, (xoy)z)=<{z]y>x
S/wm{xoyl x,yél—l} {bcld fn rank operajors}
is dence in K(H)  ({act)
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Notation X =Coc comp Hausd +op space,
E = Ban. space

CGE)= § cont. JiX—E | x> 16 vanishes )

Exec. (1) CO(X,E) is a Banach S’/)QCQ w.rt
1= supIf6l
(2) A-= C’—k—alﬁ = GKA) isa C-s-‘algj
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® e H C,,(x)E))
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(Hm‘t: Use /)cutit[on/s 0f u.m"ty)




Thu K= (oc.comp. Hausd. tep. cpace,
A= Chalg Then I an isometric *-isom

(p: CO(X)@*A — CO(X,A_) um’quelﬂ det'd
by o)) =fRa (xeX)
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uh( ‘fafy SOy



= (CMeA11y) —> C (XA
is an isometric #-hom with deyse image.
=> p extends fo an iSouetric ¥ —iSom

C ()( &, = C;(X A) N
g_(z_{. X) Y = Coc. COmlb, /{ausgl, “fO/b SlbaC&S =D

=> I an iSometric % -iSom

(&, GY) o> GK<Y),
¢({eq) ()= f6Iq(y)  (<€X, yey)

_Q%l A)Pléf Thu Yo A= C(Y) and use

the isom. CO(X C(Y) = C(xxY) (exer)
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The maxinal tensor /broc/uc{'
A B = Ctalg ue Acp
Recall Ilullm;m—~w/b§(r4@uz)(u) - ’re)of/l}

o X B
298- "U”qu: WP“T((A)”.‘ 7T=,g_p€/, OJ[A@)BJ
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Notation 4,B,C afﬁc&mg)
W:A_%C) (/)B—fac hows.
Yy AB — C’) o@b > pa)d b)

Def ¢ and ¢ comnude ([p¢I-0) <>
<= [y, (Y] -0 Vaeh, beB

f_rg'[g Suppose [p,$]=0. Then

(1) wxy S an a/j,hom)’

@) if ABCar ¥-alg ¢ are ¥-houws,

then yxy is a *-hom

Proof ' exer.

Observation .fut/)/)og,e 7: AR —> C is an
a/ﬂ,hom, A B are unital.

Defme tp:/\-5 C) %:B%C by W(Cg):‘ﬁ'(a@i)/
p) - 1(1eb) = ¢, ¢ are alg. houss,

[ J1=0, and T=(px\p.

Thm A, B-Clalg, 7: A@B — BH)
nondeq *—re/). en { a um?we /qu’r (774,71&)
ojf nondeﬁ X-yehpS OJF A)B <. [WA)WBJ":O
and W:TA*TIQ.




Thm A, B=Calg. Then
(1) Dtllppn <2 YV UCAEB.
(co |1 D 'S G C=norm on A@B)_

Q) Vv C’faIQC V% -hom p: A&B —>C
we hewe @@l £l tUllyg, (ueA®B)
(3) I g i< the largest Crnorm on Ach

(4) Haebl,, - 1allbl (ach,bEB)

fﬁi"f (4) We want : YuelAeh C>0
st T C Y *-1ep 7: AQA — B H)

We My aLsume that T IS nondeg_
=> W:”HA><7!‘E, (see the anv. 1thm.)

u=>2 aeb —
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(2) Clear if C - BH)
In thu gen. case afptﬂ nd GN 1o C.

(3) Suppose Il is a C*norm on At
C = c,ompla‘dom a/ Ab wrt [ [
App(q Q) to Ak <>



(‘I) h = nondeﬁ, i"f@f Qf A@BJ 7—:7[_A><ﬂg
| 1 (@eb)- @6 < lalibl  =>
= | 68D [y < 1GNI161 <[l ab], < |acb]

max -

A
ng The maximal Cifcngarlprochcf gf A and B

is the completion of A=B  wrt -,
Mg{aiion: A pay B




